EARAROBREBRT —5 XN—ZXBISH—F

202242598 (OK) 11@F#3H

mb‘ﬁ%C 231 YSHR—HR B
[AXE%€] 17%&:270,00 3 ~ 2%&:81,00H  3&:41,000H  437%:27,000 " . 53%&:14,000 M
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
= — SHEA . 11 — HEHEE (¥
1 4| F—A—Sro— 5 4 ohR 1.(3_2).9 1-1-1-1 | 41.0 1 (4_239) e i A
R:TSYIIALR B:F—F—LAFII TFHONKS
@ 3 3 SHUIES : -2-2- - HERIGER (STH)
2 6 | EIL/NILEYS v 4| BA 1.(35.2 2-2-2-2 | 42.2 2 (4_628) wE € i\
RiANWTT—IN B:IA—YHF IR Ml SRE
= . it 4 | BREE 1:34.5 4-3-4-3 | 42.3| — 3 444 | EEEE (GEH)
3 2 T34 bbE— 54.0 11/2) -3) ;Eﬁf%%
R:Lw RZAN—F &F:IL—RS o 2B
= 3 L 7 | #E)IEsE 1:35.0 3-4-3-4 | 8.8| — 5 453 | EEHIES (%41
4§ 7| 7YT4OIB—I ! £52.0 2172 4 | ) Ir—2revay
R:9—RMURDIL B:Hv—03H—I MEZ Y R
* I\ 5 | BiEKE 1:35.0 7-7-6-6 | 42.3| — 6 | 444 |BEEEZR (BHY)
5101 B/ TN—F 5 B% e o | e
KR:O—RApFrO7 B:N\vE—IaI)L T s
AEEE : -6-5- - ALLLE (5T
6155 FTYS/ A=A "4 56.0 1('33/%{)2 AAEEN Rt ! ‘:(1)? e )
RiFRF BIRITARYYIR FrUEAYRTF—L
- o AREIE :37. -5-6- . - REERSTT (S540)
7 3 F—F—TUHPXRZR 5 sﬁ_o (!9%(71;‘) 357 | M9 7 (4+711) IMESK h
R:O0—RAHF0O7 BYZRI—TA— Sl
@ 1—F—&RIEL
13—7— 4,6,7,2,3,5,1
2d—73— 4,6,2,7,3,5,1
30—7— 4,6,7,2,5,(1,3)
43—F— 4,6,2,7,5,1,3
o ILRE
BB 4 140 JA R 4-6 140M 5 & 4-6 1604 3EE 2-4-6 280M4
B B 4 120/ 2-4 2004 =51 4-6 270 3EH 4-6-2 900M
6 150/ 2-6 180H

ABIC OV TRUTEREERRODDZE. THRIIZEL.



